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19.Multiply 150 with -6
20.Give the additive Inverse of

i) -90
i) 760
i) -240x2
iv) 0 I
v) 1
21.Find the integer that is
i) -7 more than 24
ii) 32 times -2
iii) 48 less than -6

22.Fill in the blanks with >, < (or) =

i 3 -4 |

i) 43 43

i) [62x (:2)] [ (-4) x 31]

iv)  [90-23] [23 - 90]

V)91 -19 |
23.Simplify:

i) -9 =358 —(-18) + (-21)
i) 64 + [(-20) - (-40)] - (-11)

24.Use the distributive law to simplify the following:
i) 7250 x (-31) + 7250 x (-69) =]
i) -4x20-(-4)x15-(-4) x 62 + (-4) x 97 '

25.Find the Quotient:
i)-147  (-21)
ii) 245 (-5)





[image: image2.jpg]i) The sum of two integers is always an integer.
ii) The difference of two integers is always an integer
jii)  -14>-8-(7)

iv) -5-2>-87

V) (D=3=(3)-(7)

+10.The point A is a mountain, which is 5700mtrs. Above sea level and B is in
a mine, which is 39,600 mtrs. Below sea level. Find the vertical distance
between A and B?

11.Multiply:

i) 0by-31

ii)) -746 by -8
iii) 118 by -7
iv)-238 by -143

12.Verify the following:
i) 18x[9+ (-] =18x9+18x(7)
i) (-13) x [(-6) + (-19)] = (13) X (-6) + (13) x (-19)

13.Divide:
i) 108 by -12
ii) -161 by 23
i) -76 by -19
iv) 2067 by -1
v) 3000 by -100

14.Fill in the blanks:

i) 77 =7

ii) 84 =12
iii) “13)=13
iv) 12=-8
v) 17=-9
vi) N=27

15.Which of the following statement are true?

o -5=0

i) (-16) ~ (-8)=-2
iiii) (-5) / 0=0
iv)16  (-1)=-16

16.Add -345 + 910 + (-82)

17.Subtract 462 from -462
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1. Find the value of I
i) -23-(36)+(37)
i) <16+ (-19) + 107
iii) 9+5+(-5+9-103-77..
iv) 23 -77+(-177) + 400

2. Find the following products:
D (30)x6 l
i) (-40) x (-50)
iii) (-5)x17x2
iv)  (4) X (-6) x (-10)
V) (-40) x (-6)
vi)  (-51) x (-10) I
vii) (-49)x47x0
viil)  (-73) x (-5) x (-1)

3. Write all the integers greater than -5 and less than 2 ?
4. Write the integers between -8 and 15 ?

5. Find the value of:
i) (-3) x (36) x (-5)
ii) -17)x (-5)
iii) (-101) x 0 x 33
iv) (3 x(-5x(-11)
V) (-243) + (-8) x (-9)
vi) (2D x(3)-(-33)x0

6. Which of the following statements are True? Give Reasons.
i) The smallest Integer is zero.
ii) Zero is not an Integer
iif)  -10 is greater than -6
iv)  The opposite of zero is zero.
v) The absolute value of an integer is always greater than the integer.
vi)  Zero is larger than every negative integer.
vii)  Every negative integer is less than every natural number.

7. Subtract the sum of -1050 and 813 from -23

8. Subtract the sum of -250 and 138 from the sum of 136 and -272.

9. Which of the following statements are true?
)





